Observed —logo(p)

Leaf Area (heading stage). Population structure correction based on Principal Coordinates and Kinship (left), or Kinship only (right).
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Leaf Width (heading stage). Population structure correction based on Principal Coordinates and Kinship (left), or Kinship only
(right).
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Observed —logo(p)

Leaf Length (heading stage). Population structure correction based on Principal Coordinates and Kinship (left), or Kinship only
(right).
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Leaf Ratio (heading stage). Population structure correction based on Principal Coordinates and Kinship (left), or Kinship only (right).
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Head Area. Population structure correction based on Principal Coordinates and Kinship (left), or Kinship only (right).
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Head Width. Population structure correction based on Principal Coordinates and Kinship (left), or Kinship only (right).
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Head Height. Population structure correction based on Principal Coordinates and Kinship (left), or Kinship only (right).
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Head Ratio. Population structure correction based on Principal Coordinates and Kinship (left), or Kinship only (right).
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